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1. The worst-case time complexity of 4. Which one of the following in C
- quicksort is programming will set the value of
y to 5 if x has the value 3, but not -
(A) O(nlogn) otherwise?
(B) Ofn) i A) fx=3y=35
(©) om?) (B) if x==3(y=5)

(D) Both (A) and (B) (C) if (x==3 y=5

D) if x==3) y=5

2. In C programming, the operator ‘&’ is
-used to represent
5. Which of the following is the correct

order, if the functions are arranged

(A) logical AND ; ’ X
in ascending order of their growth?

(B) bitwise AND
(A) 1, n, logn, nlogn

(C) logical OR
(B) 1, logn, n, nlogn

(D) bitwise OR
(C) n, logn, nlogn, 1

(D) 1, nlogn, n, logn
3. What is the output of the following

program segment?

fori=5i<5 i--) 6. When is a static variable initialized?
printf ("Assam\n"}); -
(A) First time when a loop is
executed
(A) Print Assam for 5 times

(B) All time when a loop is

(B) No output executed
(C) Print Assam for infinite times (C) It cannot be initialized
(D) Print Assam for 1 time (D) None of the above
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7. What is the maximum height of any 10. The data structure used in recursive

AVL tree with 7 nodes? Assume algorithm is
that the height of a tree with a

si.ngle node is 0. (A} stack

@A) 2

B) 3 (B) queue

C) 4

(C) priority queue
(D) 5

(D) None of the above
8. A binary tree is given below :

11. Which of the following problems is
not NP-complete?

(A) Hamilton cycle problem

(B) Clique problem

Which one of the following is the
inorder, preorder and postorder
traversal respectively?

(C) 3SAT problem

(D) Set membership problem
(A) DBHEIAFCJG, ABDEHICFJG,

DHIEBFJGAC
(R), DI S - APDEEEESS 12. Construct DFA for X={g b} that

DHIEBFJAGC L :

; accepts all strings with not more

(C) DBHEIAFCJG, ABDEHICFGU, than three a. _

DHIEBFJGCA 2 |
(D) DBHEIAFCJG, ABDEHICFJG, (A) *‘—’. (@b

DHIEBFJGCA

Qb ~op
. B) >(%)*(2)
9. The programming language C uses KT
(A) row-major order (b b b b
(©) @ AT D)
.

(B) column-major order
(C) Either (A) or (B)
(D) None of the above
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13. The language accepted by finite 16. To implement top-down parsing, the

automata is _ grammar should be of the type
(A) type O (A) LL(1)
B) type 1 (B) LL(2)
& e (€) LL(3)

(D) Any of the above
(D) type 3

17. Which of the following is a tautology?
14. The regular set denoted by the

regular expression (a+ b)* (A) pvig—p)
(A) contains €& as a member B) p—p—a
element
€ (pvg—>p

(B) does not contain € as a member
element D) pvip—49g

(C) may or may not contain € as a
member element 18. What is the language generated by

the following production rules?

(D) Information is insufficient to Sy ab
decide S bS
S—a

S—b

|
15. CFLs are not closed under

(A) union (A) LG ={a b)"
(B) concatenation B) LG ={a b}’
(C) intersection © LG =g b}
(D) homomorphism (D) L@ ={a b}
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19. Which of the following statements is 22. How many 32K x1 RAM chips are
true? needed to provide a memory
capacity of 256 Kbytes?
(A) If a language is context-free,

it can always be accepted (A) 8
by a deterministic pushdown
automaton (B) 32
(B) The union of two context-free
languages is context-free <y 6%
(C) The intersection of two context- (D) 128
free languages is context-free
(D) The complement of a context- 23. The addressing mode in an

free language is context-free instruction of the form ADD 05, 06

is
20. The C language is (A) absolute '

A text-free lan
K, seem L (B) immediate

(B) a context-sensitive language
(C) indirect

(C) a regular language

(D) index
(D) parsable fully only by a Turing
machine .
24, The minimum number of D flip-flops
needed to design a mod-258
21. A Turing recognizable language is a counter is
superset of
o (A) 9
(A) context-sensitive language
(B) context-free language @ 8
(C) regular language (C) 512
(D) All of the above (D) 258
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